< = % % &5 T EX iy — — g~y
MiEmY N ESATE 111 BFEs _ BHTEEE
4 i Ji |22 % AL H B = i
1L.213(—) =6 » Bt/ UELR | 1.2/13(—) F 2 #i 1 1.2/13(—) B EEEHERAS
B2/ 7(F)— B ¥ - JLEFEAREL|2.2/13(—) & KiRbR 2.2113(—)-2115(=Z) K FHLE—IE
2NVT(TL) ~ 224(FL)E—EIEEH  |3.2/13(—)~2/16(PH) &334k EEHt
% 2.2/13(—)EE 2.3 GiBL 2/1T(F)EE 3.4 |4.2/14(Z)~2/18(7) Bl vk (B e v 3.2/15(=)-2/17(F)12:00 1k HF
— |12]13114\15/16| 17|18 sz (=) BhnE g
A 3.2/13(—)EVUETER 35
4.2/13(—)-214() B F 515
W2/13(—)FEMH
W2/18CN)FfT LB EER
1.220(—) B R as & 1.220(—) = e 1.220(—)6-7 Eid= a8 TAEVI(1) |1.2/20(—) /B
112 2.2/20(—)-2/21 (") =5 — IR (2.2/21()~204(F) kil st DODAEYVE FEERE L ITRIG [2.0023(0) SERSE S TER A
¥ = 3.2/23(M) e 3.2123(M9)23 /& A an A B E B RS R B (I EE0)
2 | 32212122 E) TV EE =5 |4.2/123(M) s — B AT E 2 4.224(H) (55 2 €)\ FEARUH B IE 3.224(F) B/ NmSCEEEAT N
Bl = 19|20|21|22|23|24|25| #&% 5.224(H) AR 2 S EAEEAL PR I & (E )
pic 4.2124(H) )\ R wE 60.2/24(F) = Hp AR 4.2024(F) K FHrp R e B 8 AL
1A BEAR R G HE () NE
5224(1H) HEEE IR EEEERA
A
L3N(E)BE R E T B BERIERS (1.224(F)~340N) S EHE R |1L3/1(Z) B 2 ] ER L.3/1(Z) K EH R B EEE
2.3/11(=) R 1A 232 EHE B e 2.3/4()1-4 ZE R H BB (—) [2.3/1(Z) F14 12:00 BB OS5 1F
% 3 33/M(Z)-B3R(E) CFEL RS 3.33(F)BIHFHEE 1 it (B G - & h-RES) | RASRELLE
= 126]27|28 1 2| 3|4 4340NREH » EFEET 3/6(—) |4.340N)E T E BAL R EER B TEE 3.3/2(MU)EETAS R EFE
G AHERAE 43P0 &— “HE—Eres
W2/27(—) AR AR 5.3/3(F1) BsE OIS B IER PR
W2/28( Z)FIE4 & HIBHR FEEE S R & (B =)
1.3/6(—)F EHHHR—K | BORR L ERA 1.3/8(=) FEEPEES 3 R 5¢ 1.3/6(—) =B
2.3/7( )39 S LA AR [2.300U)~3/10(F0)Em—A RIS 2.310(7)1 B UEZIHIERE  (2.3/6(—) 34 12:00 /NS BER
. 3.39(Y) & RERAE 3.3/10(F0) B R E0ES 2 Ktk b Bk Es =l
i lslel7lslolw0lu 3.3/0(70) e ST B PR PR
- {BE S R B & (B3 =)
pic! 4.3/10(F1) 547 12:00 4= BRI L
B E FEE
5.3/10(F) 5 — R Z R HE
1.3/13(—)8:20 = AT ) L3/13(—) & e 1.3/13(—)6-7 B4 a3 8 TAEYI(2) |1.3/13(—) BB
23M3(HEEZEGERBFEE  (2.3/13()-317(T0) & T EA P |2.3/15(=) T4 12:00 BN
5 ZEY BERHANEE LHE T EE IR
112 | A |12|13]14|15|16|17|18 3.3/15(=)9:21 EIZFAEHEE)  |3.3/15(=) FEIE 4 R EFR 3.3/16(00) E— -~ - xE e
£ | A 4.3/16(PU) R & i ey 43/17(H)1 B LEME AT H
3 S53NT(CH)EFEE 3 KitaR 53NT(F)34 &=
= 6.3/17(F0) = HE L ER
L3R D) ESEF B E S (EE) |1.320(—)~323(M)m A RIT  [1.322(=) FEPEE 5 ) EFR
% 23R4(F)EHEIE 2.3124(F)-3127(—) B A KRR
73 119]20(21(22(23(24 (25 ek
pic 3.324(F0)12 (B L) FL S e U
W3/25GN)ffT LI EER 4.3124(FL)FBEBIEE ()
1.3/27(—) 08:10 S EREE—RER  [1.3/28(=)~3/31(F.) Zirlier 1.330(M4--7 BCHkESE, 1.3/27(—)-3/29(=)K Erh, 05
e Eige 23BNH)ES T ERREREL (23317012 B/ KB EA R | B
i 26|27128] 2013031 | ¥ 2.3129(=)-3/30(PU) 5 — R % # 23R U(F) EELAETAELY
- il 33B1(F0) B/ BT EaitBH (3.3/31(F0) 3.4 Gim—BL KHTiA 405
= FE (R %)
4.3/31(F) & e
1.4/6(79)[E] 5] e 1.4/6(PUYRE PN SRRk A B 58 1B |1.4/6(P0)EE — AT =Rt
2.A/TCH) B EREE 4 Tt f e 2.4/ 1(F0) T S ERSE R — R BRE O
2.4/6(1H)34 1=—SE4H R 5
- 3.4/7(F)12 BB E 2
JUl2|3|4|5|6|7|8 4411 F)EE LRI NEEE
i 5.4/7(F1)5-6 i S L2718
W4/3(—)FHEBR 0.4/8(73) s HEEA PR A TR b
W4/A(Z) REERAR 74182 B A T SRR
WB4/5CE)RIEFESRR BERE JTEFAE
| EhsE A LAN0(—) & e dr LANN2(=) BERIESS 6 LR 1.4/10(—) 35
12| P 2.413(M) 15 =5 —RIMERE 2.4/11(—)Elt=2c HPV &5 —EH#E 24N0(—)-44(H) GG TS
P JU | 9(10(11]12]13|14|15|3.4/10(—)8:20 MU H {517 E0Er 3413 R = S-S
4 | B 44T FESS 5 TR 3 4NA(T) S — R Bl
A 54N4(F) & P EFEER
LA/17(—) ~ 420(18)  ~ 421 (FL)PEZE |1 28 & E) 1.4117(—)6-7 B4 e & TAEE () |1.4/17(—) EEEiE
& 2R E 2 AT E A 2.4/19(=) FEPIEE 7 R R 2400 —~ = wE e
L 2.4120(P5)-4/21 (F)JUFER BRI 3.4/17(—) & Es 3.4020(P)-4/26( =) #E MR B2 B
+ |16|17(18119|20|21|22| #px 4.4/20(79)ER o B i o A T A R e
Vil 5.421(F) )\ FE R EER e 4411 (FLBIERRE(S)
6.4/21(11) = &R E
7.1 S ER H G S
o 1A124(—) i h FEEE S S LARAN—) & T e 1.4/26(=) FEEHEEE 8 W EsR 1.4/24(—) E-3E05 RS
+ 58 |4 | 25| 26|27 28|58 2.427(0) = 5 = RYERE 2.4/25(=)~4/28(F) Bkl 2.5 =i 2.4124(—)-4/26(=)K E L EE =
— 34128(H) B T EEREREHE 341N RS ERi
pic 4.428(FH) B EE 6 TR 3.4128(F)BEEFEE K EETE




1.2 SRR e ek L5N(—)EHEEsE L5B3(Z)F TS 9 R EER 1.5/1(—) E3E0% R
2.5/1(—) i P HLEE S R 2.5/4(VY)E o A e 2.5/4 (MU)E—3EHX E £82E
£ 3.512()-SBEESEL == F(3.5/5(F)EE P ERES 7 Kk ER
+ 205 21304l5!6 TR 4.5/5(F) i PR
- 1 4.5/4(00) & BV RAERAE
Vi) 5.5/5(H) #FritmZEmE S
E(EE)
6.5/1(—)8:20 A A 31 TEUE ]
15/7(H) 112 BAE R AL T AL |1.5/9(2) ~ 5/10(=) B U4& i 1.5/10(=) FEEPEE 10 R LSM(WE—EF AR ~ = U
5 -0k 251N =T HESRE
1L 2 1aloliolitlizlis 2%9(:)-5/10(5)%5%:%%ﬁ 3. R R R 2 6 Tt ]
pic 352 EHEEL ~ 8 5
1.5/16(=)-517(=)5E —REEE 1L.515(—)~518(M) = =B RIT  |1.5/16(—)-5/17(Z) B M%7 & —RE (1.5/18(PU)5E = KA EhaffaE
2.5M71(=) P& /A EE BB FHE 3
i 58 I B 2.5M171(=) FEEPEE 11 KR
3.5/18(VU) LA 4R B2 B B 4
®
" 4.5/18(=) B EREH4EER
f 5.5/18(P0) 5 H R
m 14|15|16|17|18[19(20|6.5/19(F1) % 3.4 € har Zti5
5 HE
# 7.5/19(F) =P » B R
Eil— T HEER LAk
8.5/12(H) ~ SN9(H)F—Hi ¥
ISNIFBEGHELAE > T+
112 [
ff W5200%)-521 () B E %
e LI o B ERRE R I s 1.5/22(—)~5RAE)UELRHEREE  (1.5/22(—)6-T B fE TIENI(4) |1.5/22(—) /R s
2.523(T)24(E)m = EREEER  |2.522(—)~526(T)m FEREERER |2.5/22(—)-6/30( )RR AE FAR 2.5122(—)~5R6(EERE
HEER 2 IEP ~ IGP &% 3.5125 (M) &—F AR~ m_FEH
" 3522 )EEEEY 3.523( ) LIt xEEEHE
+ 4.5/23()~5/26(F1) BT 4.5R4(=) FEPIE 12 R EFR 45R6(H)E=RAZZREE
T 21|22|23|24|25|26|27 5 5(ONEREEERHEHE (|5.525(0)56 Bk EesE
. BB (S 715 )
i 3 JNEN
W52005)-521 (B)EHHEEEE |6.525(MEF g
7.5/26(T0)E e 8 TtaR
8.5/26(F1) = H HT AR
1B P R R S L.529(—)E e 1.529(—)4-F FRiRBEHAAR R 38 (BT [1.5/29(—) 2B
2.5129(—) ~ 5/30(Z)  ~ 6/2 (FLVEHE|2.529(—) = & Bk /m ) JE) 2.5129(—)-5131(=) K FHuL U
" e 3.5/30()12:30 = eREE 301 ~ 308 B [2.5/30()-6/6( ) A KB | B
f o SR B B A S 3.5/30 (£)12:00 2 FEEBRIRL
. |28|29|30|31 1 2|3 4.5B1(Z)m = Kiwkx 3SBIE) B VEMEELESER | RmERAeiL
% 5.5/31(=) s o 0 L Hh TR N
= 6.6/1(7Y i v iy 2 sy 4.5131(=) FLEEPIE 13 W B3R
1.612(H) AR EEBR & 5.612(H)FH /NG R 82
1.6/8(PY) 12:30 HERITEET & 3(ED | Lo/S(—E T E RS 1.6/5(—)-6/16(T1) = B FRFARAEE | 1.6/5(—) sl i
" 2.6/5(—)8:20 N A TR S 2.6/1(Z) LK fererak 2.6/1(=Z) HEFEBRA RS
4 3.6/7(=) B 5 B L T 2.6/5(—)6-7 B a0 E TIEY(S) | NS
jg 4(5(6|7(8|9]10 4.6/8(VU) B H 2 LS 3.6/6()112 BAEFE AR R A |3.6/8(10)3.4 Efi s — B KA A 458
5 5.6/9(CH)EHFEREE 9 Jitak HETEHE R E) (FEES =)
= 6.6/9(F) i — s 4.6/9(F) 112 EMERE RS R
EJIEHL (BT 7E)
L6/12(—) 08:10 SHEfEs — 2GR |Lo/12(—)EHEes L6M12(—)/\FF LR PRI RS SR | 1.6/12(—) /EREiF
Eigy 2.6/13(2)~6/14(=)ER /s Hitn s | Bish 2.6/1 4 B A B A
% 2.6/16(T0) B EREEE R BhERZSS  (3.6/15(M) B E =& 2614 BEEKBEFHCEERA  (3.6/1705)3-4 fim 3 T ek
+ 111211314115 16|17 5 4.6/15(10)~ 6/16( Bl T R4 Hita & | — 3558 NS (47 6 1)
" JU 3.6/16(FH) 5 3.4 BiELEE 6.7 B |5.6/16(F0) B F1 502 10 THtaR (R ED)(3.6/17(7)12 B\ A=
e A B e ) (= D) 6.6/16(TL)55 6-7 ffive T ER iR
6 4.6/16(F1) R4S 7.6/16(17) 5 R E Rk 5%
A W6/17GNRTT LT B3R
1.6/19(—) B R ERER s & L6R20(D)E— s E
.
;: 18(19/20|21 (22|23 (24
e W6/ 22(M) i Ehi s
W6/23(FR)FERR
1.6/28(=)-6/29(U) 55 = EL % 1. 6/30 B Admbe 1.6/28(=) K Efli g —K
£ 2.6/30(F)RZES » B & = PUfEl
- 71| — B
1 |24]26(27128\291300 4 1 ¢ a)13:30 BT
i) (& E)
4INGN)E A

D ETEOR RS UEREAERE




